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Aufgaben

@+

(d+ip=

(3c-e)2=

(2¢ - 3n)2 =

(c +2 3ac)? =

3

(Ba-4a)2=

e)a- e)=

(2b+ c)2b- ¢)=

9e

3m) =

(e —2ae )2 2

(f - 5e)2 =

(bg - 59 )2 =

2— 12ce + 4c

99 2+ 12gh + 4h

h

2 6ah + 9a

2

2



Lésungsblatt

Aufgaben
1, d+ip2= & +2di+i
2
2. (3c-e)2= 9c” -6ce +e
2
3. (2c - 3n)2 = 4c” -12cn+9n
4. (c +23ac)2 = c4 + 6ac 3+ 9a 02 2
5. (3a-4a)’= 3 9&12 - 24a 4 16a 6
6. @+ e)a- e)= a‘lz—e2
7. @b+ ¢)@2b- c)= af -c?
_ 2 2
8. Ba+ 3m)(3a- 3m)= 9a  -9m
9. (e —2ae )2 2 e4 - 2ae 4+ a e2 4
10. (f-5e)2 = f2 - 10ef + 25e 2
11. (bg - 59 )2 2 bzg2 - 10bg 3+ 259
2 _2
12. 9e -12ce+4c = (3e - 2¢)?
2 _2

13. 9g +12gh+4h = (3g + 2h)2
14, hZ6ah+9a =2  (h-3a)

2 .. 2 : :
15. dm -4 = @2m+ 2)(2m- 2))

2 2
16. 9c -4a = (3c+ 2a)(3c- 2a)

2 2

17. 4k -4de = (2k+ 2e)(2k- 2e)



